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Y 601
;> restart, with(linalg) :
> A= matrix(2,3,[1,2,3,-1,0,2])
1 23
A=
-1 0 2
(> B = matrix(2,3,[-1,5,-2,2,2,-1])
-1 5 -2
B =
22 -1
¥V a)
> W=A4A+8B
i W=A4+B
> evalm(W)
071
1 21
¥b)
| Matrix Multiplikation: &*
> U := transpose(A &* transpose(B))
3 -3
U=
3 -4
| > evalm(U)
Vo
> V= B&* transpose(A)
1 -1
V=B&*|2 O
3 2
> evalm(V)
3 -3
3 -4
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Y 602
;> restart; with(linalg) :
> A = matrix(3,3,[1,-2,5,-2,3,0,5,0,2])
1 -2°5
A=|-2 30 2.1)
5 02
(> B = matrix(3,3,[1,2,0,2,1,4,0,4,2])
1 20
B={214 2.2)
042
¥V a)
> det(A)
L =77 2.1.1)
¥ b)
> U:= inverse(4A &* B)
10 2 1
77 77 7
2 1 2
U= 77 77 77 (2.2.1)
I SR S
22 11 22
_:> evalm(U) :
Vo
> V= inverse(A) &* inverse(B)
6 4 15 72 4
77 77 77 11 11 11
4 23 10 2 1 2
L Pl — * = - =
77 77 77 & 11 11 11 2.3.1)
1510 1 42 3
77 77 77 11 11 22
> evalm(V)
2.3.2)



10002 1
77 77 22
2 1 1
77 77 11 2.3.2)
1 2 1
7 77 22
VY 603
;Wir definieren die Koeffizientenmatrix A und den Vektor b der rechten Seite.
| > restart; with(linalg) :
> A = matrix(3, 3,[5,-3,-2,3,-4,-3,6,5,-5])
5 -3 -2
A=|3 -4 -3 3.1)
6 5 -5
(> b = vector(3, [7, 1,-8])
b::[7 1 —8] (3.2)
B linsolve(A, b)
[ 2 -1 3 ] (3.3)




